T TEHEEARE

(7-2) B/KE A iy T2

BEAR 1 Bl KB e L

XM 00001 #&#R1-1 DIP. GX ¢ 250

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi % T.=L=447.7
® 250 )= 447.700 m
2 RIZFLLR)—THET BB R L=1=447.7
$ 250 g 447.700 m
3 R EWRT—T7 L B T=1=447. 7
® 250 )= 447.700 m
4 Rk —MAR L R T=1=447. 7
)= 447.700 m
5 A —h AR T=1=447.7
150mm X 50m & 2fZ 410 iAFx b= 447.700 m
6 EKEER WK ERER=1=447. 7
)= 447.700 m
7 EHEERRUINT T AT 7V MR ST T =2 A PR A N B =447, T%2+0
15ecmPA T g 895.400 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
5 1.030 m3 EfEEE=(447. 7%2+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + T RN =447, T%0. 65+0
BHEEE10emA T B 291.005 m2
10 EFEREUELAHDA BHO0.20m3 S T =JE g+ T AR N =447, T%0. 65+0
EAEIE10emLA T B 291.005 m2
11 EFK4EHE] BHO0.20m3 PEHI CH2=FE R xM@48=447. 7%0. 65%1. 27
g 369.576 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 7.540 m3 0.65%0.2%116
13 EEHEE (W E) BH0.20m3 PR TUI=AE R+ lig+%8=447. 7%0. 65%0. 77
Jysay R RE )= 224.074 m3
14 B RE (kg ) BH0.20m3 PR B T US=4E - *E1E=447. T%0. 65%0. 35
RC-40H R + & L\ [ 6D Ve 101.852 m3
15 ‘B E (W E) BH0.20m3 SR T U4=4E i@+ i%8=447. 7%0. 65%0. 17
M-40H & + 2o 5 [E 6 g 49. 471 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR V= 7.540 m3 0.65%0.2%116
17 EEERE BHER) BH0.20m3 RGN GHTRR ) =1L R+ Wi f=—1%447. 7%0. 058
Jys oy R R )= -25.967 m3
18 SLEEEEM AL As FERA L5 (B IS ) =i i Ff ) < =291. 005%0. 05
)= 14.550 m3
19  ERPEFEWALIL As . BEA ALy (AE 1) =Rl FEe IR X =291. 005%0. 03
)= 8.730 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERA T (PRI =Rl At FEe 5 X =291. 005%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 14.550 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (AE 1) =R FE+ /5 X =291. 005%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 8.730 m3
20 F&AIEHEF BHO0.20m3 DTrdt 7 L TEHR=H1 53 +H2 55 Hik T HE 4y (JES +All ) —#i 5 48=0+36
+# 10.0kmPA T DID#E g 377.116 m3 9.576+7.54+00
23 AREET (BEE-HJE) 3cml 148 [B =1L Fo+ g+ FE N =447, 7%0. 65+0
FAEBRIEAs 771 2 291.005 m2
24  EHEET (HE - BJE) SemlfE ARAE |H=E FoHlg + AR N =447, 7%0. 65+0
HEBRIEAs 7 T7145 )= 291.005 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X 00002 B&HR1-1 DIP. GX ¢ 250 WFUE « AEMT K BEC R B

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi% T.=L=9. 8
® 250 )= 9.800 m
2 RV FLLR)—THWET A T=1=9. 8
$ 250 g 9.800 m
3 R EWRT—T7 L B R T=1=9. 8
® 250 )= 9.800 m
4 Rk —MAR L IR L=L=9. 8
)= 9.800 m
5 A —h AR T=1=9. 8
150mm X 50m & 2fZ 410 iAFx b= 9.800 m
6 EKEER WK FRER=1=9. 8
)= 9.800 m
7 GHEERREINT T AT 7 VMR ST T =2 = R R AN =9. 8%2+0
15emPL T )= 19.600 m
8 BRI IRL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.023 m3 EHEEE=(9. 8%2+0)*0. 023*0. 05
9 AREEREUELFHA BH0.20m3 EE MR T =S g+ i A N 5=9. 8%0. 75+0
AAEIE 1 0cm L T V5 7.350 m2
10 EFEERNEUELFGA BHO0.20m3 SREER A T = FexdE + I A INH=9. 8%0. 75+0
EAEIE10emLA T B 7.350 m2
11 EFK4EHE] BHO0.20m3 PEH| TH2 =L o+ g+%E=9. 8%0. 75%1. 72
g 12.642 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.900 m3 0.75%0.2%12
13 R T (BRI A - Bk ) R T T=4EFE=9.8
1L5m<#BHIE=<1.8m ~'v/ivs|k B 9.800 m
14 EEEHERE (M R) BH0.20m3 B TUT=4E R #E+1E=9. 8%0. 75%0. 77
Iyiay bR g 5.660 m3
15 ‘B E (M E) BH0.20m3 B TU2=FE K+ g+%E=9. 8%0. 75%0. 45
RC-40#L & + & 7 5 E g 3.308 m3
16 B R (kg ) BHO0.20m3 B T US=4E = #1E+1E=9. 8%0. 75%0. 35
RC-40H R + & L\ [ 6D Ve 2.573 m3
17 B E (W E) BH0.20m3 MR B T U4=FE K+ ig+%E=9. 8%0. 75%0. 17
M-40H & + 2> 55 [E 6 g 1.250 m3
18 B R (ki ) BHO0.20m3 AT (kP - J50) =JE R A LxiEWa*iZE A H+ & FT4=0. 5%
7yvar AR R 2 0.900 m3 0.75%0. 2%12
19  EEERE BHER) BH0.20m3 R BPERR GITRR &) =1L Fo+ 48 Wr i = 1%9. 8%0. 058
Iyay R )= -0.568 m3
20 EERRFEEMMNER As BERA LSy (BEHIFR) =il A Fe /5 X =7. 35%0. 05
)= 0.368 m3
21 EERRBEIEMNEE As BERT ALy (AR 1B) =k i AE*JE X =7. 35%0. 03
)= 0.221 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTIE M (HE IS =Ml g+ X =7. 35%0. 05
AsHl - CoBfl (M%) 4.5km L B DID M J= 0.368 m3
23 PEPRALEREME BHO0.20m3 DTrdt BERA T (AE 1H) =i R /R X =7. 35%0. 03
AsHll - Codifl (%) 4.5km A T DID4E g 0.221 m3
24 F&ATIEHEF BHO0.20m3 DTrdt B B M=H1 55 +H2 45 Hik T8 43 (A Rl — B =0+12
+#5 10.0kmLL F DID%E 2 13.542 m3 .642+0.9+00
25 EEET (BE-HJE) 3cmlfE A B =E FH g+ I AR I H=9. 8%0. 75+0
BRI EAs I )= 7.350 m2
26 EfiZE T (HE - JE) Sem 18 ARAE |H=E FoHlg + AR N R =9. 8%0. 75+0
HEBRIEAs 7 T7145 P 7.350 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[ 00003 E&HR1-1 DIP. GX ¢ 250 AHEI/KEEA « BTk

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=7.5
® 250 )= 7.500 m
2 RIZFLLR)—THET FRHRL=L=T7.5
$ 250 g 7.500 m
3 R EWRT—T7 L IR T=1=7.5
® 250 )= 7.500 m
4 Rk —MAR L IR L=L=7.5
)= 7.500 m
5 A —h AR T=1=7.5
150mm X 50m & 2fZ 410 iAFx b= 7.500 m
6 EKEER W/KFRER=1=7. 5
)= 7.500 m
7 GHEERREINT T AT 7 VMR SR T T =2 A = IR R A N =T, 5%2+0
15emPL T )= 15.000 m
8 BRI IRL SRS T 7K AL B = (Bl S AE 40 I+ AL+ I BRD) *0. 023%
& 0.017 m3 &HEEE=(7. 5%2+0)*0. 023*0. 05
9 AREEREUELFHA BH0.20m3 EEEMR A T =S R g+ A N =7, 5%0. 75+0
AAEIE 1 0cm L T V5 5.625 m2
10 EFEERNEUELFGA BHO0.20m3 SREER A T =1 BexlE +IE AN FL=7. 5%0. 75+0
EAEIE10emLA T B 5.625 m2
11 EFK4EHE] BHO0.20m3 PEH| TH2 =L K+ g+%=7. 5%0. 75%1. 57
)= 8.831 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
J= 0.300 m3 0.75%0. 2%4
13 R (B e o - bl )RR T T=4ERE=7.5
1L5m<#BHIE=<1.8m ~'v/ivs|k B 7.500 m
14 EEEHERE (M R) BH0.20m3 B TUL=HE e #E+1E=7. 5%0. 75%0. 77
Iyiay bR g 4.331 m3
15 ‘B E (M E) BH0.20m3 B TU2=FE Ko #ig+{%E=T7. 5%0. 75%0. 3
RC-40#L & + & 7 5 E g 1.688 m3
16 B R (kg ) BHO0.20m3 B T US=HE = #1E+1E=7. 5%0. 75%0. 35
RC-40H R + & L\ [ 6D Ve 1.969 m3
17 B E (W E) BH0.20m3 MR B TU4=FE K+ g+ =7, 5%0. 75%0. 17
M-40HR R + &/ 5 [ o g 0.956 m3
18 B R (ki ) BHO0.20m3 AT (kP - J50) =JE R A LeiEWa*iZE A H+ & Fr#=0. 5%
Iyiay bR = 0.300 m3 0.75%0. 2%4
19  EEERE BHER) BH0.20m3 R GPERR GITRR A& ) =1L Fo+ 48 Wi fE=—1%7. 5%0. 058
Iyioay R LR )= -0.435 m3
20 FERRBEIEMALE As BERARLAS (BB HIER) =Rl A+ X =5. 625%0. 05
)= 0.281 m3
21 EERRBEIEMNEE As BERT ALy (A8 1R) = Ak i A+ X =5. 625%0. 03
)= 0.169 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BEAA T (PR HIFD) =k A i FEk /5. X =5. 625%0. 05
AsHl - CoBfl (M%) 4.5km L B DID M J= 0.281 m3
23 FEFEALPRLIERE BHO0.20m3 DTr4t BERA T (5AE 1) =l FE+ /5 X =5. 625%0. 03
AsHll - Codifl (%) 4.5km A T DID4E g 0.169 m3
24 F&ATIEHEF BHO0.20m3 DTrdt B B Me=H1 57 +H2 23 Hik T8 40 (4 +AlT) -t 5 =0+8.
+#5 10.0kmLL F DID%E B 9.131 m3 831+0.3+00
25 EEET (BE-HJE) 3cmlfE A B =E FH g+ I AR I H=7. 5%0. 75+0
BRI EAs I )= 5.625 m2
26 EfiZE T (HE - JE) Sem 18 ARAE |H=E FoHlg + AR IR =7. 5%0. 75+0
HEBRIEAs 7 T7145 P 5.625 m2




T TEHEEARE

(7-2) B/KE A iy T2

BEAR 1 Bl KB e L

X[H 00004

FEARL-2 - 4 -

5 DIP. GX ¢ 75 AMIAEIE

NO 4/ 3k ~HE B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAi% T.=L=8. 4
o 1500 Vs 8.400 m
2 RIZFLLR)—THET HRHR1=1=8.4
O T5LLT g 8.400 m
3 R EWRT—T7 L B R T=1=8. 4
675 )= 8.400 m
4 B —MiRT EHR L84
)= 8.400 m
5 A —h FHA R T=1=8. 4
150mm X 50m & 2fZ 410 iAFx b= 8.400 m
6 EKEER WK RER=1=8. 4
)= 8.400 m
7 EHEERRUINT T AT 7V MR SR T T =2 = R R A N =8, 4240
15emPL T )= 16.800 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.019 m3 &HEEE=(8. 4%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I AN =8. 4%0. 6+0
BHEEE10emA T & 5.040 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 FexlE + I AN HL=8. 4%0. 6+0
EAEIE10emLA T B 5.040 m2
11 EFK4EHE] BHO0.20m3 PE | TH2=%E Ko+ lig+i%8=8. 4%0. 6%1. 18
)= 5.947 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.360 m3 0.6%0.2%6
13 EEHEE (W E) BH0.20m3 MR B TUI=4E Ko+l +i%E=8. 4%0. 6%0. 59
ryioay R LR )= 2.974 m3
14 B RE (kg ) BH0.20m3 R T U2=4E R #ilig+{8=8. 4%0. 6%0. 09
RC-40H R + & L\ [ 6D Ve 0.454 m3
15 ‘B E (M E) BH0.20m3 M B T US=AE K+ +{%E=8. 4%0. 6%0. 35
RC-40#L & + & 7 5 E g 1.764 m3
16 B R (kg ) BH0.20m3 PR T U4=SE R ilig+8=8. 4%0. 6%0. 17
M-408R & + & o 7 S [E D g 0.857 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R b= 0.360 m3 0.6%0.2%6
18 B R (ki ) BHO0.20m3 PR EPERR GOk &) =4k £+ 48 Wi i FE=—1%8. 4%0. 007
Iyiay bR g -0.059 m3
19 EEZEEIEMMIR As FER LG5 (B HIES) =R i Fe /5 < =5. 04%0. 05
)= 0.252 m3
00  FEIREEEEMALED As BER ALy (AR IR) =fl A if Filf S X =5. 04%0. 03
)= 0.151 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE 130 =i R+ /R X =5. 04%0. 05
AsHll - Colifl (%) 4.5km A T DID4E & 0.252 m3
20 PEPRNLEEEE BHO0.20m3 DTrdt BERA T (15 1) =k A FE+ /5. X =5. 04%0. 03
AsHl - CoBfl (M%) 4.5km L B DID M J= 0.151 m3
23 A +IERE BH0.20m3 DTr4t 75 E =1 53 +H2 25 Hik T8 4 (S Hl ) ~ S48 =0+5.
18> 10.0kmLL F DIDE A 6.307 m3 947+0. 36+00
24  EHZET (HEE-HJE) 3cnl/E IAE IH=4E S IE+ E AR I 5=8. 4%0. 6+0
HAEBRIEAs 7I945 P 5.040 m2
25 AEET (BE-HJE) Seml fE A IH=IE F* g+ A I =8, 4%0. 6+0
HABRIEAs TT745 & 5.040 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[ 00005 M&#R1-2+3+4-5 DIP.GX ¢ 75 {5 aHHEB

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAi% T.=L=10. 8
O TS5 T g 10.800 m
2 RV FLLR)—THWET A T=1=10.8
O T5LLT g 10.800 m
3 R EWRT—T7 L B R 1=1=10. 8
675 )= 10.800 m
4 Rk —MAR L R 1=1=10. 8
)= 10.800 m
5 A —h AR T=1=10.8
150mm X 50m, & 265471 5A L b= 10.800 m
6 EKEER WK FRER=1=10. 8
)= 10.800 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A B N B=10. 8%2+0
15ecmPA T g 21.600 m
8 BRI IRL S TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.025 m3 EfzEE=(10.8%2+0)*0. 023*0. 05
9 AREEREUELFHA BH0.20m3 SN T =S g+ A N % =10. 8%0. 6+0
SRR 10em L T B 6.480 m2
10 AEEAREUEELFA BH0.20m3 SRS A T =1 BexlE +IE AN H=10. 8%0. 6+0
AR 10em L T g 6.480 m2
11 EFK4EHE] BHO0.20m3 PR TH2=E K+ +%E=10. 8%0. 6%0. 94
)= 6.091 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 1.440 m3 0.6%0.2%24
13 EEERE (WHER) BH0.20m3 B T UI=REE#lE+ZE=10. 8%0. 6%0. 59
ryioay R LR )= 3.823 m3
14 B RE (kg ) BH0.20m3 PR TUS=4E F*IE#4=10. 8%0. 6%0. 25
RC-40H R + & L\ [ 6D Ve 1.620 m3
15 EEERE (R RE) BH0.20m3 B T UA=FE E#E+TE=10. 8%0. 6%0. 12
M-30HR R + &/ [ o )= 0.778 m3
16 B RE (kg ) BH0.20m3 AT (kP - J50) =JE R A LxiEWa*iZE A H+ & FT4=0. 5%
7vvar AR B 1.440 m3 0.6%0. 2%24
17 EEERE BHER) BH0.20m3 RGN GITRR &) =1L F+ & Wi fE=—1%10. 8%0. 007
ryioay R LR )= -0.076 m3
18 FERFEIEMLIEE As BERA LSy (BEHIFR) =il A i F /5. X =6. 48%0. 05
)= 0.324 m3
19 EERBEIEMMEL As BERT ALy (AR 1R) =k I AE*JE X =6. 48%0. 03
)= 0.194 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERA T (PR IR =l A i FE /5. X =6. 48%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.324 m3
21 PEPRALEREME BH0.20m3 DTrdt BER T (AE 1H) =i R+ /R X =6. 48%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 0.194 m3
20 F&AIEHEF BHO0.20m3 DTrdt B B Me=H1 57 +H2 53 Hik T8 4 (B +Al) — iS5 =0+6.
1> 10.0kmPL T DIDME g 7.531 m3 091+1.44+00
23 AREET (BEE-HJE) 3cml A 1B =E R+ E+ I AR N H=10. 8%0. 6+0
BRI EEAs 74N )= 6.480 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=E FHlE+ AR N H=10. 8%0. 6+0
HEBRIEAs 7 T7145 P 6.480 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[H 00006

HeR1-3 MRS R AGEE Tk

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAis% T.=L=2.8
O TS5 T A 2.800 m
2 RIZFLLR)—THET FRH R L=1=2.8
o T5LL T g 2.800 m
3 R EWRT—T7 L B R T=1=2.8
675 )= 2.800 m
4 Rk —MAR L IR L=L=2. 8
)= 2.800 m
5 A —h BHAR T=1=2.8
150mm X 50m & 2fZ 410 iAFx b= 2.800 m
6 EKEER WK RER=1=2. 8
)= 2.800 m
7 GHEERREINT T AT 7 VMR SR T T =2 A = R H A N =2, 8%2+0
15emPL T )= 5.600 m
8 BRI IRL SRS TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.006 m3 &HEEE=(2. 8%2+0)*0. 023*0. 05
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + I AN =2. 8%0. 7+0
AAEIE 1 0cm L T V5 1.960 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexlE + I AN F=2. 8%0. 7+0
EAEIE10emLA T B 1.960 m2
11 EFK4EHE] BHO0.20m3 PEH| TH2=FE Ko+ lig+i%8=2. 8%0. T*1. 48
)= 2.901 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.210 m3 0.7%0.2%3
13 R (B e o - bl )RR T T=4ERE=2.8
1L5m<#BHIE=<1.8m ~'v/ivs|k B 2.800 m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*IE*4E=2. 8%0. 7*0. 59
Iyiay bR g 1.156 m3
15 ‘B E (M E) BH0.20m3 B TU2=FE Ko+ +i%E=2. 8%0. 7*0. 39
RC-40#L & + & 7 5 E )= 0.764 m3
16 B R (kg ) BHO0.20m3 PR TUS=4E F*IE*4E=2. 8%0. 7*0. 35
RC-40H R + & L\ [ 6D Ve 0.686 m3
17 B E (W E) BH0.20m3 MR B T U4=FE Ko #lig+%8=2. 8%0. 7*0. 17
M-40HR R + &/ 5 [ o )= 0.333 m3
18 B R (ki ) BHO0.20m3 AT (kP - J50) =JE R A LxiEWa*iZE A H+ & FT#=0. 5%
7yvar AR R 2 0.210 m3 0.7%0.2%3
19  EEERE BHER) BH0.20m3 R GPERR GITRR &) =1L Fo+ 8 Wr i g =—1%2. 8%0. 007
Iyioay R LR )= -0.020 m3
20 FERRBEIEMALE As BEMALAS (HREIES) =R i f 5 X =1. 96%0. 05
)= 0.098 m3
21 EERRBEIEMNEE As BERF ALy (A8 1R) =k i AE*JE X =1. 96%0. 03
)= 0.059 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERA T (BRI =R A FEe 5 X =1. 96%0. 05
AsHl - CoBfl (M%) 4.5km L B DID M J= 0.098 m3
23 FEFEALPRLIERE BHO0.20m3 DTr4t BERS T (A 1H) =Rk R+ R X =1. 96%0. 03
AsHll - Codifl (%) 4.5km A T DID4E g 0.059 m3
24 F&ATIEHEF BHO0.20m3 DTrdt B B Me=H1 57 +H2 53 HiE T8 4 (A +Alm) -5 =0+2.
1> 10.0kmPL T DIDME g 3.111 m3 901+0.21+00
25 EEET (BE-HJE) 3cmlfE IS IH=JE F* g+ A I =2, 8%0. 7+0
BRI EAs I )= 1.960 m2
26 EfiZE T (HE - JE) Sem 18 ARAE IH=E K+ IE+E A N BR=2. 8%0. 7+0
HEBRIEAs 7 T7145 P 1.960 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[# 00007

BEAR1-2 « 5 RRVP ¢ 75

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAi % T=L=5
675 )= 5.000 m
2 fEEE =S EHRT—7 T B R T=1=5
675 g 5.000 m
3 FEIE —MR L R T =15
g 5.000 m
4 FEF—b EH/RT=1=5
150mm X 50m,// % 25 0IAF» J= 5.000 m
5 GEERREINT T AT 7V ML SHAEY) W T =545 9T B B« AR S+ N B =5%2+0
15emPL T )= 10.000 m
6 BEERRI5IRL SRR T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
& 0.012 m3 &h2E[E=(5%2+0)*0. 023%0. 05
7 AREEAREUELURDA BHO0.20m3 AL A T = BB + T A N =5%0. 6+0
AAEIE 1 0cm LA T Vs 3.000 m2
8  ERLEANEUELAA BHO0.20m3 SHEER A T = FerlE + T A N HL=5%0. 6+0
EAEIE10emLA T B 3.000 m2
9 ‘&M BH0.20m3 PR HI TH2=4E Fex@E*i=5%0. 6%0. 94
)= 2.820 m3
10 B R (kg ) BHO0.20m3 PR T.UL=AE E+E*%E=5%0. 6%0. 59
Iyioay bR g 1.770 m3
11 ERHEE (B E) BH0.20m3 P B T US=%E FeslE8=5%0. 6%0. 25
RC-40HL & + & 7 5 [E g 0.750 m3
12 B R (kg ) BHO0.20m3 R TU4A=FE F*IE4E=5%0. 6%0. 12
M-303 & + & > 7 6 [E o g 0.360 m3
13 EEERE (WHER) BH0.20m3 PR RAZERR (GHTaR ) =4I o & W i A =— 1%5%0. 006
ryioay R LR )= -0.030 m3
14 FERFEEMLI As BERA LSy (BEHITD) =l i FEk /5 X =3%0. 05
)= 0.150 m3
15 EEERBEIEMMEL As BEA ALy (S 1) =Rl A hi Rk X =3%0. 03
)= 0.090 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BERA E My (PR D) =fl g i+ = < =3%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.150 m3
17 PEPRALFERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl i Rk /R X =3%0. 03
AsHil - Colifl (%) 4.5km A T DID4E g 0.090 m3
18 FAE15EHE BH0.20m3 DTrat B B Me=H1 57 +H2 23 HiE T8 40 (B +l) -5 =0+2.
+4#5 10.0kmLL F DID%E 2 2.820 m3 82+0+00
19 Hh%ET (HEE-¥E)3cnl /@ IS B =AE S g + I AR N =5%0. 6+0
BRI EAs I )= 3.000 m2
20 EfZE T (HEE-HJE) SenlfE ARAE |H=FE FoHilg + A TN =5%0. 6+0
HEBRIEAs 7 T745 P 3.000 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[# 00008

BEAR1-3 « 4 RRVP ¢ 50

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPA % T=L=3
® 50 )= 3.000 m
2 fEEE =S EHRT—7 T A R T=1=3
$50LL g 3.000 m
3 FEIE —MR L IR T=1-3
g 3.000 m
4 FEF—b B R T=1=3
150mm X 50m,// % 25 0IAF» J= 3.000 m
5 GEERREINT T AT 7V ML ST T =2 A P e A I B =3%2+0
15emPL T )= 6.000 m
6 BEERRI5IRL SRR T 7K AL B = (BlEEAE B4 I+ AL+ I BRD) *0. 023%
& 0.007 m3 &hEEE=(3%2+0)*0. 023%0. 05
7 AREEAREUELURDA BHO0.20m3 AL T = BB + T A N =3%0. 6+0
SAEE 1 0em Pl T & 1.800 m2
8  ERLEANEUELAA BHO0.20m3 SRR A T = BerlE + T AN H=3%0. 6+0
AR 10em L T i 1.800 m2
9 FHHEH| BHO0.20m3 PR I TH2=%E FoxEiZ=3%0. 6%0. 91
)= 1.638 m3
10 B R (kg ) BHO0.20m3 PR TUI=AE E+g*%=3%0. 6%0. 56
7yvar AR 2 1.008 m3
11 EEERE R RE) BH0.20m3 R TUS=4E -+ #14=3%0. 6%0. 25
RC-40M &+ Z L ki [ED g 0.450 m3
12 B R (kg ) BHO0.20m3 R TU4A=FE Fo*IE#4E=3%0. 6%0. 12
M-308R & + & o7 S [E D g 0.216 m3
13 EEERE (WHER) BH0.20m3 RGN GHTRR ) =4 Ko+ Wi i fE=—1%3%0. 003
Iyay R )= -0.009 m3
14 EFRFEIEME As BEM ALy (HREIES) = f = S =1. 8+%0. 05
)= 0.090 m3
15 EEERBEIEMMEL As BEA ALy (AR 1) =Rl i Fe /R X =1. 8%0. 03
)= 0.054 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEAA T (BRI =Rl A FEe /S X =1. 8%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.090 m3
17 PEPRALFERE BH0.20m3 DTr4t BEAA T (A8 1) =Rl Fe /R X =1. 8%0. 03
AsHil - Colifl (%) 4.5km A T DID4E g 0.054 m3
18 FAE15EHE BH0.20m3 DTrat B B =157 +H2 23 HiE T8 40 (S +Alm) -t & =0+1.
+4#5 10.0kmLL F DID%E 2 1.638 m3 638+0+00
19 Hh%ET (HEE-¥E)3cnl /@ IS B =AE S IE + I AR N 5 =3%0. 6+0
BRI EAs I )= 1.800 m2
20 EfZE T (HEE-HJE) SenlfE ARAE |H=FE FoHlig + A TN =3%0. 6+0
HEBRIEAs 7 T745 P 1.800 m2




T TEHEEARE

(7-2) B/KE A iy T2

BEAR 1 Bl KB e L

XM 00009 #&#RE1-6 + 7 DIP.GX ¢ 150

NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAik 1.=L=26. 5
® 150 )= 26.500 m
2 RIZFLLR)—THET FRH R L=1-26.5
é 150 g 26.500 m
3 R EWRT—T7 L B R 1=1=26. 5
® 150 )= 26.500 m
4 B —MERT B LAL=26.5
)= 26.500 m
5 A —h AR T=1=26. 5
150mm X 50m & 2fZ 410 iAFx b= 26.500 m
6 EKEER WK FRER=1=26. 5
)= 26.500 m
7 EHEERRUINT T AT 7V MR ST T =52 A P e A B N B =26. 5%2+0
15ecmPA T g 53.000 m
8 BRI IRL SRR T 7K AL B = (B S AE 4 I+ AR+ I BRD) *0. 023%
5 0.061 m3 &fzEE=(26.5%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 SN T =S g+ T A N 5 =26. 5%0. 6+0
BHEEE10emA T 2 15.900 m2
10 EFEERNEUELFGA BHO0.20m3 SREER A T =1 BexlE +IE A INH=26. 5%0. 6+0
EAEIE10emLA T B 15.900 m2
11 EFK4EHE] BHO0.20m3 PEH| TH2 =L K+ g+%E=26. 5%0. 6%1. 17
g 18.603 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.780 m3 0.6%0.2%13
13 EEHEE (W E) BH0.20m3 PR TUL=4E R *IEE=26. 5%0. 6%0. 67
Jysay R RE )= 10. 653 m3
14 B RE (kg ) BH0.20m3 B T US=4E = #1E+1E=26. 5%0. 6%0. 35
RC-40H R + & L\ [ 6D Ve 5.565 m3
15 ‘B E (W E) BH0.20m3 PR TUA=SE R #1EE=26. 5%0. 6%0. 17
M-40H & + 2o 5 [E 6 g 2.703 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
Iyioay bR )= 0.780 m3 0.6%0.2%13
17 EEERE BHER) BH0.20m3 R BPERR GHTRR ) =1L B+ Wi fE=—1%26. 5%0. 022
Iyay R )= -0.583 m3
18 FREXPEEMALEL As BERA LSy (BEHIFR) =ik A Fe /5 X =15. 9%0. 05
)= 0.795 m3
19  ERPEFEWALIL As FEAA ALy (A5 1R =R Ak i F+ 5 X =15. 9%0. 03
)= 0.477 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERA T (PR IR =ik A FEe 5. X =15. 9%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.795 m3
21 FEFEAPLERE BH0.20m3 DTr4t BERS T (AE 1H) =ik FE+ /R X =15. 9%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 0.477 m3
20 F&AIEHEF BHO0.20m3 DTrdt 7 L TEHR=H1 53 +H2 5y Hik T HE 4y (ES +Al i) —#i R 48=0+18
1> 10.0kmPL T DIDME g 19.383 m3 .603+0. 78+00
23 AREET (BEE-HJE) 3cml A 1B =AE FH g+ I AR I 5H=26. 5%0. 6+0
FAEBRIEAs 771 2 15.900 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=FE FoHlg + AR N =26. 5%0. 6+0
HEBRIEAs 7 T7145 )= 15.900 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[H 00010

BEH1-6 - 7 DIP.K ¢ 150

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIP#is% T.=L=8.5
® 150 )= 8.500 m
2 RV FLLR)—THWET A T=1=8.5
é 150 g 8.500 m
3 R EWRT—T7 L B R 1=1=8.5
® 150 )= 8.500 m
4 R — M L R T=1=8.5
)= 8.500 m
5 A —h HHART=1=8.5
150mm X 50m & 2fZ 410 iAFx b= 8.500 m
6 EHIERRUINT TAT7 VMRS SRS T T =E 2 4 R PR AR B N B =8, 5%2+0
15emEh T g 17.000 m
7 BEERIGIRAL A TR K AL Bl = (B EEAE B I+ AL+ IR *0. 023%
b 0.020 m3 EHEEE=(8. 5%2+0)*0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 SRR A T =1 FexlE + I AN HL=8. 5%0. 7+0
AR 10em L T i 5.950 m2
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + I A N E=8. 5%0. 7+0
SRR 10em L T B 5.950 m2
10 ‘“&¥4EE] BHO.20m3 JEHI TH2=4E F-xE+i4E=8. 5%0. T1. 17
)= 6.962 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.420 m3 0.7%0.2%6
12 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=8. 5%0. 7*0. 67
7yvar AR 2 3.987 m3
13 EEIERE (R RE) BH0.20m3 B T US=FE 5 #liE+E=8. 5%0. T*0. 35
RC-40# 2 + &> 7 5 E o g 2.083 m3
14 B RE (kg ) BH0.20m3 PR TUA=E R+ IE*4E=8. 5%0. 7%0. 17
M-408R & + & o7 S [E D g 1.012 m3
15 EEERE (R R) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{&5 Frsk=0. 5%
Iyay R g 0.420 m3 0.7%0.2%6
16 B RE (kg ) BH0.20m3 PR BEPERR GOk &) =1L Ko+ Wi Ff=—1%8. 5%0. 022
7vvar AR 2 -0.187 m3
17  EERBEIEMLEL As BERF ALy (BRHIS) =k i AE*JE X =5. 95%0. 05
)= 0.298 m3
18 FERFEIEMLIEE As BER LSy (A5 1) =k A i FE+ /5. X =5. 95%0. 03
)= 0.179 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (BE 10 =i R+ /5 X =5. 95%0. 05
AsHll - Colifl (%) 4.5km A T DID4E & 0.298 m3
20 PEPRNLEEEHE BHO0.20m3 DTrdt BERA T (15 1) =k A FE+ /5. X =5. 95%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.179 m3
21 %4 +1EHE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik T A0 45 (S +ld) —#it & 48=0+6.
18> 10.0kmLLF DIDE A 7.382 m3 962+0. 42+00
22 EiZE T (FE-HJE) 3cnl/E IAE IH=4E K+ g+ E FE I 5i=8. 5%0. 7+0
HEBRIEAs T745 P 5.950 m2
23 EREET (BEE-HJE) SemlfE A IH=IE F* g+ A I Hi=8. 5%0. 7+0
BRI EEAs 74N )= 5.950 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[H 00011

HEHR1-2 EP FiEkS+ T

11

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SRAED) B =545 AT B IR H S« AR BN %=0. 75%2+1. 6
15ecmPL T B 3.100 m
2 BRI IRAL SR TR 7K AL B = (BlEE AE 40 I+ AL+ I BRD) *0. 023%
5 0.004 m3 &EfEEE=(0.75%2+1.6)*0.023%0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 8+0
SHAEIE10em LA T B 0.600 m2
4 EREERNEUELAA BHO0.20m3 SHEER A T = FexlE +IE AN HL=0. 75%0. 8+0
EAEE10emLA T B 0.600 m2
5 KEEY b BUREKHY PR THI=ZE F+ g +%=0. 75%0. 8*0. 456
ANT] 5 0.274 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=E F-xE*i%=0. 75%0. 8*0. 684
)= 0.410 m3
7 E LR (B ) BHO0.20m3 R TUI=FER+E+E=0. 75%0. 8*0. 79
Iyay R )= 0.474 m3
8 BB (Fhg I ) BHO.20m3 M5 T US=%E E*E%14E=0. 75%0. 8%0. 25
RC-40H R + & o\ [ 6D Ve 0.150 m3
9 EHEE (W E)BH0.20m3 R TU4=FER+lF+E=0. 75%0. 8%0. 12
M-30H & + &> i [E 6 g 0.072 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k K& Wi ff=—1%0. 75%0. 006
Iyioay bR g -0.005 m3
11 ERRBEFEWALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =0. 6%0. 05
)= 0.030 m3
12 FEERBEEEMALER As BER LSy (A5 1H) =l A i FER /S X =0. 6%0. 03
)= 0.018 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE 10 =l R+ /R X =0. 6%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.030 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEM TR (A H) =R A= X =0. 6%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.018 m3
15 /A +5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 27
18> 10.0kmLLF DIDE g 0.684 m3 4+0.41+0+00
16 Ei%ET (HE-KE)3ml)E A8 H=FE FHlg + A N =0. 75%0. 8+0
HEBRIEAs 7 T745 P 0.600 m2
17 & T (EE-¥E)5eml /& AAE IH=1E FHE+ I AR I H=0. 75%0. 8+0
BRI EAs I )= 0.600 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[# 00012 B&#R1-3 EP HiHEA& T

12 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SHAEY) B T =545 9T B AR B« AR+ IN 5 =0. 5%2+1. 6
15ecmPL T )= 2.600 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfiZEE=(0.5%2+1.6)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AREERE A T =1 BB + I AN 5E=0. 5%0. 8+0
SHAEIE10em LA T B 0.400 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 FexlE + I AN =0. 5%0. 8+0
EAEE10emLA T B 0.400 m2
5 RHEY T BSHIRKHY P THI=2E R+ ig+%8=0. 5%0. 8%0. 444
ANT] 5 0.178 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E F-xE*i%=0. 5%0. 8*%0. 666
)= 0.266 m3
7 ERIERE (B ) BHO.20m3 H BT TU1=4E Ee 5 ZE=0. 5%0. 8%0. 76
Iyay R g 0.304 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HE Fexfigix42=0. 5%0. 8%0. 25
RC-40H R + & o\ [ 6D Ve 0.100 m3
9 EEME (B R) BH0.20m3 H B T UA=4E Ee g Z8=0. 5%0. 8%0. 12
M-30H & + &> i [E 6 g 0.048 m3
10 B R (kg ) BHO0.20m3 PR PERR GOk &) =1L K+ Wi i Ff=—1%0. 5%0. 003
Iyioay bR g -0.002 m3
11 ERRBEFEWALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =0. 4%0. 05
)= 0.020 m3
12 FEERBEEEMALER As BER LSy (A5 1E) =Rl FEe IS X =0. 4%0. 03
)= 0.012 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE HIFA0) =l i R /R X =0. 4%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.020 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEM TR (A H) =R A= X =0. 4%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.012 m3
15 /A +5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -~ 545 =0. 17
18> 10.0kmLLF DIDE g 0.444 m3 8+0.266+0+00
16 Ei%ET (HE-KE)3ml)E A8 IH=4E K+ g+ EAE N 5i=0. 5%0. 8+0
HEBRIEAs 7 T745 P 0.400 m2
17 & T (EE-¥E)5eml /& AAE IH=4E F* g+ A I =0, 5%0. 8+0
BRI EAs I )= 0.400 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[# 00013 B&#R1-4 EP HiHEA& T

13 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SHAEY) B T =545 9T B AR B« AR+ IN 5 =0. 5%2+1. 6
15ecmPL T )= 2.600 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfiZEE=(0.5%2+1.6)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AREERE A T =1 BB + I AN 5E=0. 5%0. 8+0
SHAEIE10em LA T B 0.400 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 FexlE + I AN =0. 5%0. 8+0
EAEE10emLA T B 0.400 m2
5 RHEY T BSHIRKHY P THI=2E R+ ig+%8=0. 5%0. 8%0. 444
ANT] 5 0.178 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E F-xE*i%=0. 5%0. 8*%0. 666
)= 0.266 m3
7 ERIERE (B ) BHO.20m3 H BT TU1=4E Ee 5 ZE=0. 5%0. 8%0. 76
Iyay R g 0.304 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HE Fexfigix42=0. 5%0. 8%0. 25
RC-40H R + & o\ [ 6D Ve 0.100 m3
9 EEME (B R) BH0.20m3 H B T UA=4E Ee g Z8=0. 5%0. 8%0. 12
M-30H & + &> i [E 6 g 0.048 m3
10 B R (kg ) BHO0.20m3 PR PERR GOk &) =1L K+ Wi i Ff=—1%0. 5%0. 003
Iyioay bR g -0.002 m3
11 ERRBEFEWALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =0. 4%0. 05
)= 0.020 m3
12 FEERBEEEMALER As BER LSy (A5 1E) =Rl FEe IS X =0. 4%0. 03
)= 0.012 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE HIFA0) =l i R /R X =0. 4%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.020 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEM TR (A H) =R A= X =0. 4%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.012 m3
15 /A +5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -~ 545 =0. 17
18> 10.0kmLLF DIDE g 0.444 m3 8+0.266+0+00
16 Ei%ET (HE-KE)3ml)E A8 IH=4E K+ g+ EAE N 5i=0. 5%0. 8+0
HEBRIEAs 7 T745 P 0.400 m2
17 & T (EE-¥E)5eml /& AAE IH=4E F* g+ A I =0, 5%0. 8+0
BRI EAs I )= 0.400 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[H 00014

HEHR1-5 EP FEkS+ T

14

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SRAED) B =545 AT B IR H S« AR BN %=0. 75%2+1. 6
15ecmPL T B 3.100 m
2 BRI IRAL SR TR 7K AL B = (BlEE AE 40 I+ AL+ I BRD) *0. 023%
5 0.004 m3 &EfEEE=(0.75%2+1.6)*0.023%0. 05
3 AEEAREUELUADA BHO0.20m3 EEMR M T =S g+ A N =0, 75%0. 8+0
SHAEIE10em LA T B 0.600 m2
4 EREERNEUELAA BHO0.20m3 SHEER A T = FexlE +IE AN HL=0. 75%0. 8+0
EAEE10emLA T B 0.600 m2
5 KEEY b BUREKHY PR THI=ZE F+ g +%=0. 75%0. 8*0. 456
ANT] 5 0.274 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=E F-xE*i%=0. 75%0. 8*0. 684
)= 0.410 m3
7 E LR (B ) BHO0.20m3 R TUI=FER+E+E=0. 75%0. 8*0. 79
Iyay R )= 0.474 m3
8 BB (Fhg I ) BHO.20m3 M5 T US=%E E*E%14E=0. 75%0. 8%0. 25
RC-40H R + & o\ [ 6D Ve 0.150 m3
9 EHEE (W E)BH0.20m3 R TU4=FER+lF+E=0. 75%0. 8%0. 12
M-30H & + &> i [E 6 g 0.072 m3
10 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =4k K& Wi ff=—1%0. 75%0. 006
Iyioay bR g -0.005 m3
11 ERRBEFEWALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =0. 6%0. 05
)= 0.030 m3
12 FEERBEEEMALER As BER LSy (A5 1H) =l A i FER /S X =0. 6%0. 03
)= 0.018 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE 10 =l R+ /R X =0. 6%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.030 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEM TR (A H) =R A= X =0. 6%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.018 m3
15 /A +5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 27
18> 10.0kmLLF DIDE g 0.684 m3 4+0.41+0+00
16 Ei%ET (HE-KE)3ml)E A8 H=FE FHlg + A N =0. 75%0. 8+0
HEBRIEAs 7 T745 P 0.600 m2
17 & T (EE-¥E)5eml /& AAE IH=1E FHE+ I AR I H=0. 75%0. 8+0
BRI EAs I )= 0.600 m2




+ TEHEHEE 15 H

(7-2) Bl/K B AT Lo
BEAR 1 BLKEAMRR T

X[# 00015 B&#R1-6 EP HiHEA& T

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS ST T =52 A i AN B =0. 75%2+2. 2
15emPL T )= 3.700 m
2 BRI IRAL SRR ) TR 7K AL B = (BlEE AE 4 I+ AL+ I BRD) *0. 023%
5 0.004 m3 EEEE=(0.75%2+2. 2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 SR T =S Robg+ i A N =0, 75%1. 1+0
AAEIE 1 0cm LA T Vs 0.825 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BexlE +IE AN F=0. 75%1. 1+0
EAEE10emLA T B 0.825 m2
5 KEEY b BUREKHY PR THI=ZE F+ g +%=0. 75%1. 1%0. 648
ANT] 5 0.535 m3
6 ‘FIHEE] BHO0.20m3 PR TH2=7E F*fF*42=0. 75%1. 1%0. 972
)= 0.802 m3
7 R (R R A - B ) SRR +8 T=4EF=0. 75
1L5m<#BHIE=<1.8m ~'v/ivs|k B 0.750 m
8 BB (FEhE I ) BHO.20m3 5 T U= E*E*14E=0. 75%1. 1%0. 87
Tyiay AR g 0.718 m3
9 EHHEE (W) BH0.20m3 PR TU2=4E R #EE=0. 75%1. 1%0. 25
RC-40# & + & 7 5 [E g 0.206 m3
10 B R (kg ) BHO0.20m3 B T US=4E = #1E+1E=0. 75%1. 1%0. 35
RC-40H R + & o\ [ 6D Ve 0.289 m3
11 BB E (M E) BH0.20m3 PR TUA=SE R #IEE=0. 75%1. 1%0. 17
M-40HR R + & o/ [ o g 0.140 m3
12 B R (kg ) BHO0.20m3 B PERR GOk &) =4k Fo+ & Wi Ff=—1%0. 75%0. 022
Iyioay bR g -0.017 m3
13 ERRBEFEMALEL As . JFEAA AL Gy (BRI ) = i i i+ /5 X =0. 825%0. 05
)= 0.041 m3
14 BEREEEEMALE As BERT LSy (A5 1R) =l e i F+ /5 & =0. 825%0. 03
)= 0.025 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BE IS =l i FEf+ /R X =0. 825%0. 05
AsHll - Codifl (%) 4.5km A T DID4E & 0.041 m3
16 PFEREALEEM: BH0.20m3 DTr4t BEAA T (A5 1) =k A i Rk /S X =0. 825%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.025 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 53
18> 10.0kmLLF DIDE A 1.337 m3 5+0.802+0+00
18 Ei¥ET (HE-HJE)3cnl)E A8 IH=E FoHlE + AR N =0. 75%1. 140
HEBRIEAs 7 T745 P 0.825 m2
19 &h%ET (HEE-¥E)5eml /& AL IH=E FHIE+ AR INH=0. 75%1. 140

HAEBRIEAs FI74h .825 m2

i
=)




+ TEHEHEE 16

(7-2) Bl/K B AT Lo
BEAR 1 BLKEAMRR T

X[# 00016 B&#R1-7 EP HiHAE T

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS ST T =52 A i AN B =0. 75%2+2. 2
15emPL T )= 3.700 m
2 BRI IRAL SRR ) TR 7K AL B = (BlEE AE 4 I+ AL+ I BRD) *0. 023%
5 0.004 m3 EEEE=(0.75%2+2. 2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 SR T =S Robg+ i A N =0, 75%1. 1+0
AAEIE 1 0cm LA T Vs 0.825 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BexlE +IE AN F=0. 75%1. 1+0
EAEE10emLA T B 0.825 m2
5 KEEY b BUREKHY PR THI=ZE F+ g +%=0. 75%1. 1%0. 648
ANT] 5 0.535 m3
6 ‘FIHEE] BHO0.20m3 PR TH2=7E F*fF*42=0. 75%1. 1%0. 972
)= 0.802 m3
7 R (R R A - B ) SRR +8 T=4EF=0. 75
1L5m<#BHIE=<1.8m ~'v/ivs|k B 0.750 m
8 BB (FEhE I ) BHO.20m3 5 T U= E*E*14E=0. 75%1. 1%0. 87
Tyiay AR g 0.718 m3
9 EHHEE (W) BH0.20m3 PR TU2=4E R #EE=0. 75%1. 1%0. 25
RC-40# & + & 7 5 [E g 0.206 m3
10 B R (kg ) BHO0.20m3 B T US=4E = #1E+1E=0. 75%1. 1%0. 35
RC-40H R + & o\ [ 6D Ve 0.289 m3
11 BB E (M E) BH0.20m3 PR TUA=SE R #IEE=0. 75%1. 1%0. 17
M-40HR R + & o/ [ o g 0.140 m3
12 B R (kg ) BHO0.20m3 B PERR GOk &) =4k Fo+ & Wi Ff=—1%0. 75%0. 022
Iyioay bR g -0.017 m3
13 ERRBEFEMALEL As . JFEAA AL Gy (BRI ) = i i i+ /5 X =0. 825%0. 05
)= 0.041 m3
14 BEREEEEMALE As BERT LSy (A5 1R) =l e i F+ /5 & =0. 825%0. 03
)= 0.025 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BE IS =l i FEf+ /R X =0. 825%0. 05
AsHll - Codifl (%) 4.5km A T DID4E & 0.041 m3
16 PFEREALEEM: BH0.20m3 DTr4t BEAA T (A5 1) =k A i Rk /S X =0. 825%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.025 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 53
18> 10.0kmLLF DIDE A 1.337 m3 5+0.802+0+00
18 Ei¥ET (HE-HJE)3cnl)E A8 IH=E FoHlE + AR N =0. 75%1. 140
HEBRIEAs 7 T745 P 0.825 m2
19 &h%ET (HEE-¥E)5eml /& AL IH=E FHIE+ AR INH=0. 75%1. 140

HAEBRIEAs FI74h .825 m2

i
=)




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X[# 00018 {RGEX/KEAeRRIE 1. 268 AT

17 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SRAED) B =545 AT B PR H A« AR BN =4, 4%2+0
15emPL T )= 8.800 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.010 m3 &HEEE=(4. 4%2+0)*0. 023%*0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =4. 4%0. 6+0
AAEIE 1 0cm LA T Vs 2.640 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BexlE + I AN =4. 4%0. 6+0
EAEE10emLA T B 2.640 m2
5 EIHEEI] BHO0.20m3 PEH| TH2=FE Fo#lig+%E=4. 4%0. 6%1. 03
)= 2.719 m3
6 B (Fh I ) BH0.20m3 R TUL=4E Rexfigxifi=4. 4%0. 6%0. 53
Tyiay bR g 1.399 m3
7 ERIERE (B ) BHO.20m3 H B T US=4E E g ZE=4. 4%0. 6%0. 35
RC-40#L & + & 7 5 [E g 0.924 m3
8 B (FhR I ) BHO.20m3 MR T U4=SE Rerfigxiqe=4. 4%0. 6%0. 17
M-40 & + & o 7 6 [E o g 0.449 m3
9 EEIERE (WHIERE)BH0.20m3 PR RRAZERR CHTRR &) =4 Fox & W i F=—1%4. 4%0. 001
Iioay R LR )= -0.004 m3
10 FEFRFEIEME As BER LS5 (BRAEIER) =R A+ X =2. 64%0. 05
)= 0.132 m3
11 ERRBEFEWALEL As BER L5y (A 1H) =i FE R X =2. 64%0. 03
)= 0.079 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERTE M (PR HIER) = A+ R X =2. 64*0. 05
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.132 m3
13 PEREALFLEME BH0.20m3 DTrdt BER T (AE 1H) =i R+ IR X =2. 64%0. 03
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.079 m3
14 FAE5EH BH0.20m3 DTrat B L IEPR=H1 53 +H2 53+ TR 43 (S +ll ) — it 58 =0+2.
+4#5 10.0kmLL F DID%E 2 2.719 m3 719+0+00
15 &fdE T (HEE-¥E) 3cnl /@ IS IH=JE F* g+ A I =4, 4%0. 6+0
BRI EAs I )= 2.640 m2
16 Ei%ET (HE-HE) Sl )E ARAE IH=E F+ g+ E A N =4, 4%0. 6+0
HEBRIEAs 7 T745 P 2.640 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

18

X 10001 FRImD
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BerlE + I AN H =120, 4+0
EEEE 10em L T b 0.400 m2
5 EIHEEI] BHO0.20m3 PR TH2=%E Fexg*iZE=1%1%0. 55
)= 0.550 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E Rorfigsfe=1%150. 2
7yvar AR 2 0.200 m3
7 E LR (B ) BHO0.20m3 PR B T US=%E sl Z8=1%1x0. 25
RC-40# 2 + &> 7 5 E o g 0.250 m3
8 B (FhR I ) BHO.20m3 MR T UA=SIE R+ e=1%1%0. 12
M-303 & + & > 7 S [E o g 0.120 m3
9 EFRBEFEWALIE As . BEAA ALy (B HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
10 FHEERBEEEMALER As BER LSy (S 1H) =R Rk IR X =0. 4%0. 03
)= 0.010 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = e R+ /R X =1%0. 05
AsHil - Codifl (%) 4.5km A T DID4E & 0.050 m3
12 PEREALEEIERE BH0.20m3 DTr4t BEM TR (A8 1H) =R A= X =0. 4%0. 03
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.010 m3
13 F/AE+5EME BHO0.20m3 DTr4t B - TEWR=H1 53 +H2 53+ T8 45 (S Hl d) —#it & 45=0+0.
18> 10.0kmLLF DIDE g 0.550 m3 55+0+00
14 HHEET (EE-BE) 3cn 1)@ IAE B =E FH g+ E A I R =1%1+0
HEBRIEAs 7 T74L P 1.000 m2
15 &fidE T (HEE-¥H) Sem1 /& AAE IH=E FHIE+ I AR N H=1%0. 4+0
BRI EAs I )= 0.400 m2




+ TEHEHEE 19 H

(7-2) Bl/K B AT Lo
BEAR 1 BLKEAMRR T

X[ 10002 #AIEO

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE ST T =52 A i e A B I B =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BexlE + I AN H =10, 25+0
EEEE 10em L T b 0.250 m2
5 EIHEEI] BHO0.20m3 PR TH2=4E FoxEsiE=1%1%1. 1
)= 1.100 m3
6 B (FEh I ) BHO.20m3 MR TU2=4E i x{4e=1%1%0. 6
RC—40#L = + Z > S [E 8 = 0.600 m3
7 E LR (B ) BHO0.20m3 PR B TUS=%E sl #Z8=1%1x0. 35
RC-40# 2 + &> 7 5 E o )= 0.350 m3
8 B (FhR I ) BHO.20m3 R T U4=SE Rerfigxfe=1%1%0. 17
M-40 & + & o 7 6 [E o g 0.170 m3
9 EFRBEFEWALIE As . BEAA ALy (B HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
10 FEFRFEIEME As BEM ALy (A H) =T TR AR X =0. 25%0. 03
)= 0.010 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = e R+ /R X =1%0. 05
AsHil - Codifl (%) 4.5km A T DID4E & 0.050 m3
12 PFEREALEEEME: BH0.20m3 DTr4t BERA T (15 1) =ik A i Fe 5 X =0. 25%0. 03
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.010 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S Hld) — it 48 =0+1.
18> 10.0kmLLF DIDE g 1.100 m3 1+0+00
14 HHEET (EE-BE) 3cn 1)@ IAE B =E FH g+ E A I R =1%1+0
HEBRIEAs 7 T74L P 1.000 m2
15 &fidE T (HEE-¥H) Sem1 /& AAE IH=1E FHg+ I AR I H=1%0. 25+0
BRI EAs I )= 0.250 m2




+ TEHEHEE 20 ®H

(7-2) Bl/K B AT Lo
BEAR 1 BLKEAMRR T

X[E 10003 FAAEO

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRS A T =1 BexlE +E AN H =120, 3+0
EEEE 10em L T b 0.300 m2
5 KEEY b BUREKHY PR THI=AE FexE*i=1%1%0. 42
ANT] 5 0.420 m3
6 ‘FIHEE] BHO0.20m3 PR TH2 =7 -+l #2=1%10. 63
)= 0.630 m3
7 E LR (B ) BHO0.20m3 PR B T UT=%E sl 8=1%1%0. 3
Iioay R LR )= 0.300 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E i+ 4e=1%1%0. 25
RC—40HL = + Z > S [E 8 = 0.250 m3
9 EHHEE (W) BH0.20m3 PR B T US=%E sl Z8=1%1x0. 35
RC-40# 2 + &> 7 5 E o g 0.350 m3
10 B R (kg ) BHO0.20m3 PR TUA=E Bexg*E=1%1%0. 17
M-40 & + & > 7 S5 [E o g 0.170 m3
11 ARRBEFTEWALIE As . BEAA ALy (R HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
12 FEERBEEEMALER As BER LSy (A5 1H) =i FEk /5 X =0. 3%0. 03
)= 0.010 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI = R+ /R X =1%0. 05
AsHll - Cobifl (%) 4.5km A T DID 4 & 0.050 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEM TR (A8 1H) =R A= X =0. 3%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.010 m3
15 /A +5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (IS +llm) — #5485 =0. 42
18> 10.0kmLLF DIDE g 1.050 m3 +0.63+0+00
16 Hf%ET (EE-#E) 3cm 1)@ A B =E FoH g+ E AR I R =1%1+0
HEBRIEAs 7 T745 P 1.000 m2
17 & T (EE-¥E)5eml /& AL IH=1E FHIg+ I AR I H=1%0. 3+0
BRI EAs I )= 0.300 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

21

XM 10004 FAIm@
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRS A T =1 BexE + I AN =10, 35+0
EEEE 10em L T b 0.350 m2
5 EIHEEI] BHO0.20m3 PRI TH2=4E FoxME*4E=1%1%0. 5
)= 0.500 m3
6 B (FEh I ) BHO.20m3 MR T US=HE i+ {4e=1%1%0. 35
RC-408 &+ Z o /3 [E D = 0.350 m3
7 E LR (B ) BHO0.20m3 PR B T U4=%E Rl iZ8=1%1x0. 17
M-40HR R + & o [ o g 0.170 m3
§  RRIRFEIEMMLFE As BERA LSy (BEHIFD) =R i FEe /5 X =1%0. 05
)= 0.050 m3
9 EFRBEFEWALIE As BER LSy (A8 1H) =hl Rk i i /5 & =0. 35%0. 03
)= 0.010 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERAE My (PR D) =l i+ = S =1%0. 05
AsHi - CoBfl (M%) 4.5km L B DID J= 0.050 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERS T (AE 1H) =i FE+ /R X =0. 35%0. 03
AsHil - Codifl (%) 4.5km A T DID4E & 0.010 m3
12 FAE5EHE BH0.20m3 DTrat B L ER=H1 53 +H2 53+ TR 43 (S +ll ) — it &4 =0+0.
+4#5 10.0kmLL F DID%E 2 0.500 m3 5+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS 1B =L R g+ A I Ri=1%1+0
FAEBRIEAs 744 )= 1.000 m2
14 HEET (HE-KE) Sl )E ARAE |H=FE FoHlg + I AE N R =1%0. 35+0
HEBRIEAs 7 T74L P 0.350 m2




+ TEHEHEE 22 ®H

(7-2) Bl/K B AT Lo
BEAR 1 BLKEAMRR T

X[E 10005 #IE®

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE ST T =52 A i e A B I B =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BexlE + I AN H =10, 25+0
EEEE 10em L T b 0.250 m2
5 EIHEEI] BHO0.20m3 PR TH2=%E Foxg*iZE=1%1%0. 85
)= 0.850 m3
6 B (FEh I ) BHO.20m3 R TU2=4E i+ {4e=1%1%0. 35
RC—40#L = + Z > S [E 8 = 0.350 m3
7 E LR (B ) BHO0.20m3 PR B TUS=%E sl #Z8=1%1x0. 35
RC-40# 2 + &> 7 5 E o )= 0.350 m3
8 B (FhR I ) BHO.20m3 R T U4=SE Rerfigxfe=1%1%0. 17
M-40 & + & o 7 6 [E o g 0.170 m3
9 EFRBEFEWALIE As . BEAA ALy (B HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
10 FEFRFEIEME As BEM ALy (A H) =T TR AR X =0. 25%0. 03
)= 0.010 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = e R+ /R X =1%0. 05
AsHil - Codifl (%) 4.5km A T DID4E & 0.050 m3
12 PFEREALEEEME: BH0.20m3 DTr4t BERA T (15 1) =ik A i Fe 5 X =0. 25%0. 03
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.010 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 5 ik T8 43 (S +l d) —#it & 48=0+0.
18> 10.0kmLLF DIDE g 0.850 m3 85+0+00
14 HHEET (EE-BE) 3cn 1)@ IAE B =E FH g+ E A I R =1%1+0
HEBRIEAs 7 T74L P 1.000 m2
15 &fidE T (HEE-¥H) Sem1 /& AAE IH=1E FHg+ I AR I H=1%0. 25+0
BRI EAs I )= 0.250 m2




+ TEHEHEE 23 H

(7-2) Bl/K B AT Lo
BEAR 1 BLKEAMRR T

X[E 10006 FAAEO®

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE ST T =52 A i e A B I B =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BexlE + I AN H =10, 25+0
EEEE 10em L T b 0.250 m2
5 EIHEEI] BHO0.20m3 PR TH2=%E Foxg*iZE=1%1%0. 85
)= 0.850 m3
6 B (FEh I ) BHO.20m3 R TU2=4E i+ {4e=1%1%0. 35
RC—40#L = + Z > S [E 8 = 0.350 m3
7 E LR (B ) BHO0.20m3 PR B TUS=%E sl #Z8=1%1x0. 35
RC-40# 2 + &> 7 5 E o )= 0.350 m3
8 B (FhR I ) BHO.20m3 R T U4=SE Rerfigxfe=1%1%0. 17
M-40 & + & o 7 6 [E o g 0.170 m3
9 EFRBEFEWALIE As . BEAA ALy (B HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
10 FEFRFEIEME As BEM ALy (A H) =T TR AR X =0. 25%0. 03
)= 0.010 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = e R+ /R X =1%0. 05
AsHil - Codifl (%) 4.5km A T DID4E & 0.050 m3
12 PFEREALEEEME: BH0.20m3 DTr4t BERA T (15 1) =ik A i Fe 5 X =0. 25%0. 03
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.010 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 5 ik T8 43 (S +l d) —#it & 48=0+0.
18> 10.0kmLLF DIDE g 0.850 m3 85+0+00
14 HHEET (EE-BE) 3cn 1)@ IAE B =E FH g+ E A I R =1%1+0
HEBRIEAs 7 T74L P 1.000 m2
15 &fidE T (HEE-¥H) Sem1 /& AAE IH=1E FHg+ I AR I H=1%0. 25+0
BRI EAs I )= 0.250 m2




+ TEHEHEE 24 H

(7-2) Bl/K B AT Lo
BEAR 1 BLKEAMRR T

X[E 10007 #AED

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE ST T =52 A i e A B I B =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 BexlE + I AN H =10, 25+0
EEEE 10em L T b 0.250 m2
5 EIHEEI] BHO0.20m3 PR TH2=%E Fex*i=1%1%1. 05
)= 1.050 m3
6 B (FEh I ) BHO.20m3 R TU2=4E i+ {4e=1%1%0. 55
RC—40#L = + Z > S [E 8 = 0.550 m3
7 E LR (B ) BHO0.20m3 PR B TUS=%E sl #Z8=1%1x0. 35
RC-40# 2 + &> 7 5 E o )= 0.350 m3
8 B (FhR I ) BHO.20m3 R T U4=SE Rerfigxfe=1%1%0. 17
M-40 & + & o 7 6 [E o g 0.170 m3
9 EFRBEFEWALIE As . BEAA ALy (B HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
10 FEFRFEIEME As BEM ALy (A H) =T TR AR X =0. 25%0. 03
)= 0.010 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = e R+ /R X =1%0. 05
AsHil - Codifl (%) 4.5km A T DID4E & 0.050 m3
12 PFEREALEEEME: BH0.20m3 DTr4t BERA T (15 1) =ik A i Fe 5 X =0. 25%0. 03
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.010 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 ik TR 4y (S Hld) —#e B8 =0+1.
18> 10.0kmLLF DIDE g 1.050 m3 05+0+00
14 HHEET (EE-BE) 3cn 1)@ IAE B =E FH g+ E A I R =1%1+0
HEBRIEAs 7 T74L P 1.000 m2
15 &fidE T (HEE-¥H) Sem1 /& AAE IH=1E FHg+ I AR I H=1%0. 25+0
BRI EAs I )= 0.250 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X 10008 FRIWO®
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15ecmPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
AAEIE 1 0cm LA T Vs 1.000 m2
4RIV T BIGHKISHY JEHE TH1=JE B+ ZE=1%1%0. 46
A B 0.460 m3
5 EIHEEI] BHO0.20m3 PR TH2=%E Fexg*iZE=1%1%0. 69
)= 0.690 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E i+ 4e=1%1%0. 4
Tyiay bR = 0.400 m3
7 ERIERE (B ) BHO.20m3 PR T U2=E - * g+ E=1%1%0. 25
RC-40#L & + & 7 5 [E g 0.250 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HE i+ {4e=1%1%0. 35
RC-40H R + & o\ [ 6D Ve 0.350 m3
9 EEME (B R) BH0.20m3 PR B T U4=%E Rl Z8=1%1x0. 17
M-40H B + 2> 5 [E 6 g 0.170 m3
10 FEFRFEIEME As BERA LSy (BEHIFD) =l i FEe /5 X =1%0. 05
g 0.050 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = e R+ /R X =1%0. 05
AsHil - Codifl (%) 4.5km A T DID4E & 0.050 m3
12 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 46
+4#5 10.0kmLL F DID%E 2 1.150 m3 +0.69+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS 1B =L R g+ A I Ri=1%1+0
BRI EAs I )= 1.000 m2




T TEHEEARE

(7-2) B/KE A iy T2

Fepr 1 BlKEAMR L

X 10009 FAIEO
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15ecmPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
AAEIE 1 0cm LA T Vs 1.000 m2
4RIV T BIGHKISHY JEHE TH1=JE B+ ZE=1%1%0. 46
A B 0.460 m3
5 EIHEEI] BHO0.20m3 PR TH2=%E Fexg*iZE=1%1%0. 69
)= 0.690 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E i+ 4e=1%1%0. 4
Tyiay bR = 0.400 m3
7 ERIERE (B ) BHO.20m3 PR T U2=E - * g+ E=1%1%0. 25
RC-40#L & + & 7 5 [E g 0.250 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HE i+ {4e=1%1%0. 35
RC-40H R + & o\ [ 6D Ve 0.350 m3
9 EEME (B R) BH0.20m3 PR B T U4=%E Rl Z8=1%1x0. 17
M-40H B + 2> 5 [E 6 g 0.170 m3
10 FEFRFEIEME As BERA LSy (BEHIFD) =l i FEe /5 X =1%0. 05
g 0.050 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI = e R+ /R X =1%0. 05
AsHil - Codifl (%) 4.5km A T DID4E & 0.050 m3
12 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 46
+4#5 10.0kmLL F DID%E 2 1.150 m3 +0.69+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS 1B =L R g+ A I Ri=1%1+0
BRI EAs I )= 1.000 m2




T TEHEEARE

(7-2) B/KE A iy T2

BEAR 1 AR KB AR T

XM 20001 PP 20 HIiEWN

27

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T U R T=1=2.8
g 2.800 m
2 FEET—b IR T=1=2.8
150mm X 50m,// % 25 Hr0IAF» J= 2.800 m
3 GHEERREINT T AT 7 VM ST T =2 A = R A N =2, 8%2+0
15emPL T )= 5.600 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 40 I+ AR+ I BRD) *0. 023%
5 0.006 m3 &zEE=(2.8%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 AREERE A T =1 BB + I AN =2. 8%0. 6+0
AAEIE 1 0cm LA T Vs 1.680 m2
6 ERLERNEUELAA BHO0.20m3 SREER A T =1 BoxlE + I AN =2. 8%0. 6+0
EAEE10emLA T B 1.680 m2
7 EWIEE] BHO0.20m3 PE | TH2=%E Ko+l +i%E=2. 8%0. 6%0. 93
)= 1.562 m3
8 BB (FEhE I ) BHO.20m3 R TUL=4E Rexfigx4e=2. 8%0. 6%0. 43
Tyiay AR g 0.722 m3
9 EHHEE (W) BH0.20m3 MR B T US=AE o+ +{%E=2. 8%0. 6%0. 35
RC-40# & + & 7 5 [E )= 0.588 m3
10 B R (kg ) BHO0.20m3 PR TUA=FE F#IEH4E=2. 8%0. 6%0. 17
M-408R & + & o 7 S [E D g 0.286 m3
11 EEERE R R) BH0.20m3 RGN GHTRR A ) =4 =+ %8 B fE=—1%2. 8%0. 001
Iyioay R LR )= -0.003 m3
12 EERBEEMALE As BERT ALy (R HIES) =ik A+ X =1. 68%0. 05
)= 0.084 m3
13 EEERBEIEMMEL As BERT ALy (AR B) =k i AE*JE X =1. 68*0. 03
)= 0.050 m3
14 PEFSALEEME BHO0.20m3 DTrdt BERA T (PRI =il A FEe 5 X =1. 68%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.084 m3
15 PEPRALFERE BH0.20m3 DTr4t BERS T (A 1H) =i FE+ /R X =1. 68%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.050 m3
16 FAE5EHE BH0.20m3 DTrat B B =1 57 +H2 53 Hik T8 40 (S +HAlm) - #i R E =0+1.
+4#5 10.0kmLL F DID%E 2 1.562 m3 562+0+00
17 ST (HEE-#E)3cnl /@ IS IH=4E F* g+ A I =2, 8%0. 6+0
BRI EAs I )= 1.680 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE IH=E K+ IE+E A N B =2. 8%0. 6+0
HEBRIEAs 7 T745 P 1.680 m2




